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BIEER: S02
48 58 68 78 8H 98 108 118 128 18 28 38 REt
LIz ER H ABEAR 18 31 30 31 31 30 3 174
SR 7E B R 466 740 715 739 740 714 85 4199
F151E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1EE R {EAY0.1ppmZ#8 Z 1= BERE 3k 0 0 0 0 0 0 0 0
B ¥ 4{EA%0.04ppmZ #8 2 1= B3 0 0 0 0 0 0 0 0
1 BF R iE D == 1= i (ppm) 0.002 0.002 0.001 0.005 0.002 0.001 0.001 0.005
B F 1B O i &= fE (ppm) 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.001
LI BR HahiflE B 23 30 31 31 29 31 175
A 7E BF R 556 713 739 740 692 739 4179
F #5{E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1E5 RS {E HY0.1ppmZ B X T-FF T 2R 0 0 0 0 0 0 0
B F51{EA%0.04ppmZFEZ 7= H 3 0 0 0 0 0 0 0
1B 1B O £ = {B (ppm) 0.001 0.002 0.002 0.001 0.001 0.001 0.002
B 1 D &= B (ppm) 0.000 0.001 0.001 0.001 0.000 0.001 0.001
ELIAR ABEBAR 28 31 30 31 31 30 29 30 31 31 29 31 362
B 7 B R 689 739 712 739 737 713 714 716 737 740 690 736 8662
F1591E(ppm) 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1BE R {EAY0.1ppmZ#8 Z 1= B REI 3k 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ 4{EA%0.04ppmZ #8 2 f- B3 0 0 0 0 0 0 0 0 0 0 0 0 0
15 B D & = {iE (ppm) 0.007 0.004 0.005 0.011 0.007 0.008 0.010 0.005 0.005 0.006 0.006 0.005 0.011
B F 1B D i &= {E (ppm) 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.002 0.001 0.002
LB R S H HahiflE B 28 31 30 31 31 29 31 28 31 31 29 31 361
8 7 B 689 740 714 738 735 707 738 690 737 739 690 738 8655
F #5918 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1E5 RS {E HY0.1ppmZ B X T-FFRT 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
B F51{EA%0.04ppmZFEZ 7= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R 1B O £ = {B (ppm) 0.002 0.002 0.001 0.001 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.003
B {8 D & B (ppm) 0.001 0.001 0.000 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.001 0.001
KiR&E i ABEBAR 28 31 30 31 31 30 29 30 31 31 29 31 362
B 7E B R 689 740 715 739 736 714 713 715 737 739 689 737 8663
F1591E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B {EAY0.1ppmZ #8 Z 1= B REI 3k 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ 14{EA%0.04ppmZ #8 2 f- B3 0 0 0 0 0 0 0 0 0 0 0 0 0
15 B O & = {iE (ppm) 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.003 0.001 0.002 0.002 0.003
B F 1B D i &= {E (ppm) 0.001 0.002 0.001 0.001 0.001 0.000 0.000 0.001 0.001 0.000 0.000 0.001 0.002
EHEH HahiflE B 28 31 30 31 31 30 29 30 31 31 29 31 362
8 7 B 689 740 710 739 737 713 713 716 738 740 689 737 8661
F #5918 (ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1E5 RS {E HY0.1ppmZ B X T-BF T 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
B F51{EA%0.04ppmZFEZ 7= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1B O £ = {B (ppm) 0.007 0.002 0.001 0.005 0.001 0.001 0.001 0.002 0.006 0.007 0.002 0.003 0.007
B {E D FH & E(ppm) 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001




ERERE ABEAR 28 31 30 31 31 30 29 30 31 31 29 31 362
B 7 B R 691 739 715 737 737 714 714 714 738 740 690 738 8667
F1591E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1EE R {EAY0.1ppmZ#8 2 1= B REI 3k 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ 4{EA%0.04ppmZ #8 2 f- B3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B B O &% = {iE (ppm) 0.008 0.003 0.002 0.002 0.003 0.005 0.002 0.002 0.003 0.003 0.001 0.003 0.008
B F 1B D i &= {E (ppm) 0.001 0.001 0.001 0.000 0.000 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001
SERXsRE HahiflE B 28 31 30 31 31 30 29 30 31 31 29 31 362
8 7 B 696 739 715 738 738 714 717 714 738 740 690 738 8677
F #5{E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B RS {E HY0.1ppmZ B X T-FFRT 2% 0 0 0 0 0 0 0 0 0 0 0 0 0
B F51{EA%0.04ppmZFEZ 7= H 3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R 1B O £ = {B (ppm) 0.032 0.008 0.002 0.001 0.002 0.002 0.001 0.003 0.002 0.002 0.001 0.002 0.032
B {8 D & B (ppm) 0.003 0.002 0.001 0.000 0.000 0.001 0.000 0.000 0.001 0.000 0.001 0.001 0.003
SEE LR ABEBAR 28 31 30 31 31 30 29 30 31 31 29 31 362
B 7 B R 696 739 715 738 738 713 715 714 738 740 690 738 8674
F151E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B {EAY0.1ppmZ #8 Z 1= B REI 3k 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ 14{EA%0.04ppmZ #8 2 f- B3 0 0 0 0 0 0 0 0 0 0 0 0 0
15 B D & = {iE (ppm) 0.003 0.002 0.004 0.001 0.004 0.003 0.001 0.002 0.001 0.002 0.002 0.001 0.004
B F 1B O i &= {E (ppm) 0.001 0.001 0.001 0.000 0.000 0.000 0.001 0.000 0.001 0.001 0.001 0.000 0.001
EE HahiflE B 28 31 30 31 31 30 29 30 31 31 29 29 360
8 7 B 694 739 715 738 737 713 716 714 737 740 690 702 8635
F #5{E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1E5 RS {E HY0.1ppmZ B X T-BF T 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
B F51{EA%0.04ppmZFEZ 7= H 0 0 0 0 0 0 0 0 0 0 0 0 0
1B 1B O £ = {B (ppm) 0.001 0.002 0.005 0.004 0.003 0.001 0.001 0.002 0.002 0.001 0.002 0.001 0.005
B {8 D & B (ppm) 0.001 0.001 0.001 0.000 0.001 0.000 0.000 0.001 0.001 0.001 0.001 0.001 0.001
EE] ABEBAR 28 31 30 31 31 30 31 28 31 31 29 31 362
B 7E B R 693 739 715 738 738 715 739 689 738 740 690 739 8673
F151E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B {EAY0.1ppmZ#8 Z 1= B REI 3k 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ 4{EA%0.04ppmZ #8 2 - B3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B B O & = {E (ppm) 0.001 0.004 0.002 0.002 0.002 0.002 0.003 0.002 0.003 0.002 0.001 0.001 0.004
B F 1B O i = {E (ppm) 0.001 0.001 0.000 0.000 0.000 0.000 0.001 0.001 0.001 0.000 0.001 0.000 0.001
#E [ SR AT HahiflE B 28 31 30 31 31 30 31 28 31 31 29 31 362
8 7 B 691 739 714 737 738 714 739 689 737 740 690 738 8666
F #5{E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1B RS {E HY0.1ppmZ 8 X T-FFRT 2R 0 0 0 0 0 0 0 0 0 0 0 0 0
B F51{EA%0.04ppmZFEZ 7= H 0 0 0 0 0 0 0 0 0 0 0 0 0
1B R 1B O £ = {B (ppm) 0.001 0.002 0.002 0.002 0.002 0.001 0.001 0.002 0.006 0.002 0.003 0.001 0.006
B {8 D &= B (ppm) 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001
HETH ABEBAR 28 31 30 31 31 30 29 30 31 31 29 31 362
B 7 B 691 739 715 735 738 714 715 713 738 740 690 738 8666
F159E(ppm) 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
1EE R {EAY0.1ppmZ #8 Z 1= B REI 3k 0 0 0 0 0 0 0 0 0 0 0 0 0
B ¥ 4{EA%0.04ppmZ #8 2 1= B3 0 0 0 0 0 0 0 0 0 0 0 0 0
1B B O & = {iE (ppm) 0.004 0.002 0.001 0.001 0.002 0.002 0.001 0.002 0.003 0.002 0.001 0.001 0.004
B 516 D &= {E(ppm) 0.001 0.001 0.001 0.000 0.001 0.001 0.000 0.002 0.001 0.001 0.001 0.001 0.002




